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QUESTION 1

Click the exhibit. 

A Carrier Supporting Carrier (CSC) VPRN is configured for a customer carrier who is an Internet Service Provider (ISP).
If CE1 sends an IP packet to 192.60.100.1, which of the following is FALSE? 

A. PE1 pushes an LDP transport label. 

B. CSC-PE1 pops the BGP label and pushes two labels: a VPN label and an MPLS transport label. 

C. CSC-PE2 pops the MPLS transport label and pushes a BGP label. 

D. CSC-CE2 pops the BGP label and pushes an LDP transport label. 

Correct Answer: C 

 

QUESTION 2

Which of the following statements about inter-AS model C VPRNs is FALSE? 

A. VPN-IPv4 routes are neither held, nor re-advertised, by the ASBRs. 

B. Each ASBR propagates the routes received from its neighbor ASBR as labeled IPv4 routes in its own AS. 

C. ASBRs exchange labeled IPv4 routes for the system addresses of PE routers. 

D. ASBRs exchange customer routes as labeled IPv4 routes. 

Correct Answer: D 

 

QUESTION 3

When would it be appropriate to use the as-override command? 
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A. When sites of different VPRN customers use the same BGP AS number 

B. When sites of the same VPRN customer use the same BGP AS number 

C. When sites of different VPRN customers use different BGP AS numbers 

D. When sites of the same VPRN customer use different BGP AS numbers 

E. When the customer site AS number is the same as the provider AS number 

Correct Answer: B 

 

QUESTION 4

What operation does a P device perform when it receives a labeled packet for a VPRN service? 

A. It forwards the packet based on the label signaled by MP-BGP. 

B. It decrements the TTL and forwards the packet based on the inner label. 

C. It swaps the outer label then forwards the packet. 

D. The P router does not perform any operations on labeled packets. 

Correct Answer: C 

 

QUESTION 5

Which command will display the Route Target associated to a specific prefix on an Alcatel-Lucent 7750 SR? 

Latest 4A0-106 Dumps | 4A0-106 Exam Questions | 4A0-106 Braindumps                                3 / 4

https://www.geekcert.com/4a0-106.html
https://www.geekcert.com/4a0-106.html
https://www.geekcert.com/4a0-106.html


https://www.geekcert.com/4a0-106.html
2024 Latest geekcert 4A0-106 PDF and VCE dumps Download

A. Show router bgp routes 

B. Show router bgp routes detail 

C. Show router route-table 

D. Show router route-table 

E. Either (b) or (d) 

Correct Answer: B 
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